[Review prdolems) hJcﬂz,'+h44¢<aruaueas
vey baie?, ln 3&4
. Cau . / V‘DW ‘Yl e‘}* C\V}CL 11
Rud T: fustreealt (o oxploaions neccled) A aaepmkp
T ) Dbt )
a) v ZFx ) cosx —sin¥X
b) VX S g) tanx sectx
¢) \x B W) tan'x /(e
4) e¥ ef {) dnlsink)  cosxfsine o1 cotx
e) lnx V/x ) xe¥  gxe
Liviear . ; 4y, .
qo@sov.@ Es{—imaiz 5in(0.02) wl LMM%M#MQM
SINX X nem X=0
= |siv (0.02) = 0-02.
O‘T\"\M’ LTI AITRINITIATESS .:‘_“.7.‘.‘ - 5(_‘ -
ot @) Find the s 2 v of, $6) g-X o (-ea,c0).
) O (=D x=0 .)concaw W ahshulx MW“W‘“W
@ Find the yamum o.m\ i o $0= x=3x on Lo, z].
)= %= 3= 3% 1) = 3k 1)(x~1) it aunhans 1AL (ol=0 ) uits. wex: (2.2)
“ x) 6x (only 1 {02} ;(“% A pf.l'?g win: (4-2)
(B Sk thu grah b §= x*=3x.
am‘m
6\‘ 4 xN
u@ EVCA\U.C& ;‘Q‘iwlm cx_‘ ond \4&}"(‘2 _g-%{ ‘&m l-\‘ee'w
_ et '1-\-0 Wl
= 0 E =11

ek @ Suippose 4 4 ane Junction i -Hnaﬁc stalt) =t fnall €,

£(0)= ?ﬁ/ g(0)= S( and

$g+gf=1
g'§=1-4Y
Q . &c;

£o)=
q' (D)=

~ind (0},

u
<
+



Pank]'L : Jongm problens.

(D{%/uw’ﬁaiwn) Find oeuswaiim
a) ,Qn(%(.QM(x))) ‘ ‘;Q
w(ﬂv\{flv\(x)») n(ﬁh(v} & (9“(9“(* )
T R %Q“‘ - mm:\ TR % ]

h "&f U-‘;“‘“ 3 l ,Qn{"ﬁ]" X+ % D (sl = ;z,ew e ) - — la(x-2)
(x-2 SKYs = 144 a8 R

) = _Evsinx .' o
Lm) Gy e a2 -] |

¢) secx  Horxo)

f=sec™'x sectly): *“"““J Fld=1 }ﬁx) =%t }W-T b x>g :
sec %d X f(“ sec scc )« tan(sec™) WMZ '*““.Bu"x) =J X%
IXET R
nodudk Ay {on(seg}) == Jxe]
- % =
£)= ](er )Qn(?x*l) +e* x+1 \‘j%&la-m
1= S

(ot reeded heas)
@ ( optwiyetion)
a) Eind He wioxivaum aren oba night +"14”'?Q W! X
h(jpo{'ﬁm Op ﬁmq&h 1. o : b )_-;?l_ ot = %-0%1
atsb'=1 | auw=za -f—’(a\-.-o &= 340
\ok b={1az §() Tadimar on o] = 1~at= ot *
[ ¢ (d ,_:: 1)-—0.1* L.l (= a=E\Z

e b¢asd e flol=0 4UB)=2 $10=0

b) Find, Yhe mesimun primeter of sls G aight V)@»

tiangl with Wypoteniae of Qg 1.
atl =1 i = a+b+i = a=-at SDM
"’B L=dras | S jzaxJT=a¥ 1 | (=) a=*Jiiz_
o <051 = 1-% o=z

£(J3)= Jz+1
) = = 2 _
§la)=0 &=t =2



00 (ophmization)
Fivd the winimum ()_WW&?Q slice @ o1 @
z }(,.P Die Q,Dmea S‘Ocm
9305 Fi358 s, &}4,‘\ ”a g .:1,5 ,;.-,v..;,.f....l

iy e” Hifad ‘M'u% ShIE ')ﬁ .
jf’Bﬁ? Area. = —19' rt =5 wank o winwmise Ple) on 0.
e/uww%e/z Zr+l‘19- conaue up => Docer vmava will e
R ahsilite-
.—7 1} 50/'%7 too/l’ 'P)(V] =0 = J_‘_-_: =7
P(r)= ZF+ e 122 (=) =0
o = Zew 2 | 50 pimmwm & PED)
B e - = 2J50+ &2 could 2
P (v)-Z-lUO/r , %0 /,/,“‘“ “e
2 e ) o3 = [+ Wl If‘:&“’f’m
N 2.00 /r . 3 Pl
P ...>(,on u(J'Qor ™20, @

i

@ (‘\Vlﬁa/] aopoY‘m« ! ": ; )"4-&' :n'f:‘":f::’} ‘ 3.,? b ,f PR :-.5 & ‘, ° - “;f -
%3 « ‘ ‘J. ( 5
) Apmonmaﬁ ’(cm“( ) #RE ( v»w 4 M*vm P ).,

g(x):'fat’l X
-g‘()() = \.‘;.xz.

Ao(wm. reanthe lenpwa

value x=1+
§(0) = Wiy
1('&] = /2 ¥ .
) Bt the tangauk Qineto ra‘-x & ke oy (2.78)
7y % =1 Iy
S "1 -J5) = ]
[ 2 5 {(q % 60
A (2,78).
M _ Bt
NT s T iE




@ (WQPW@ Shekch the Q()Q(JL\@D )= % v e X

you way anume Higk ,QWV‘ $()=0 (we haven't covered
how do evcluak thew ,@tmﬁi ih oﬁo’tax\)
. Determine focdd exkeme, and whew it icreaiivg [ecneasing,

'De’a’ﬁiwhc whare it eoncave ep)
exdema: $'N=0 & 1= =73t (=> X=INZ

(K)“ e "“7‘('2“) Mueenny (=3 15258 (=> X<-\ or x> T
(1- Zx)e dereanny (=5 1D =\ [ ex <
. - . Ll eontentys £ o bhe'samu sign s =2x (3-2-%)
Y = (Hx) e Y4 (1"&]("5%) er = (Z ¥ ) = .-Lh((j- “'X)(J‘ 74) '
{ = /e 3 -X vp dwn 0 dawn
= (= 6—-—-—-—r-'—"'_""_
(=6x+d)e . o

=-7x(3-2¢%) ™

(D) (quuphingd Shekon ¥oe qaaph of - §04)

-Fud & clewby Verteal amaetes { Prud Qu:«"w on both sides)
. Fd housortad argwptotes.

Licontuupms b X=H=0, te ¥=FL.

: . =20 =~ =2 — = P
&Vﬁl)_ 5'(\() - O+ - ’g"—%\- {'(\9\ O
-L‘
P 0= T = o QX_{V{\* $=

Nertite) commptstos ok X?—'_ff*;?_

\AMSOV\JVLLX‘ ]

=3+ Yk ~340

&?w%(*h A 1*%)5‘ e |
=3

V\@'\?. M\ﬁm@h %ﬁﬂiﬁ .




@ (Reletid nolt)
A cntain own hod o welkdore 0P 50.000 people, o) whom
o a ndle 0P 900 (‘»wp[t pr wiowth, and 400 new yobs ane ’
baing ceakid pa month. What & the aab of chang,(op the

b\mmp\bu,mm@ﬁafl (ex(uwuqf in aced w mondh) ¢

De@my
W) = # people wivke worleDonce
UE) = portion unemploged  (between O and 1)
T(¢) = # people employed .

Thawe ot seleted by We are glven :
_ aud
W = W L) = T ) ot Wl=se
) s Teeasee
Di 99%04 ’ﬂaT@ ; SN U
W>"' WA - W = 5 | = ar £=0:
) \ M) = 900 = 900+0.1 = 400
W-WU-3 = w-W uel 50,000
b L - 900." 90"'{_0_(_)
W-W'U- T W = 50.000
W - N T —
50,000
a2

S0 iavtamﬁwvvﬂewlr ) im/wa/sw o aﬁa{z a—P 0.32%s meﬂ?




